






 



 



 



 



 



 

Here the follicular cells are almost 

cuboidal in shape (as we said they 

can vary from squamous, cuboidal 

to columnar) and they have the 

feature of protein synthesizing with 

the presence of rER. 

Here we can see that 

parafollicular (c cells) : 

-have pale cytoplasm 

-are larger than follicular cells 

-can be single or aggregated in 

clusters (as in the circle above). 



We mentioned in the last lecture the fact that the thyroid gland 

is made out of 2 origins in terms of embryology : 

 1. originally the thyroid gland is an endodermal thickening from 

the floor of the pharynx between tuberculum impar & the 

copula , then it descends down. 

 2. the second origin is coming from the 5th pharyngeal pouch 

as neural crests, they migrate and settle themselves in the 5th 

arch in the shape of ultimobranchial bodies then they migrate 

into thyroid gland and they don't integrate in the follicle instead 

they sandwich themselves between the already existed follicles, 

because of that the 2nd type of cells of the thyroid gland are 

not mixed with the follicles (rather they are between them) 

because of that they're called interstitial / parafollicualr cells 

(para= neighbor , because they are neighboring follicles). 

so surely the 2 types of cells are having different function & 

they secrete different hormones . 



 



 



 



 



We said that normally 

developed thyroid gland which 

has been exposed to any 

disease / mass, the 

enlargement can't go up 

(because of the fascia & the 

muscles) but it can easily 

descend downward & reach the 

manubrium ( plunging/ 

restrosternal goiter). Also you'd 

be asked to do percussion on 

the manubrium of the sternum , 

to detect retrosternal dullness , 

because that area have special 

sound but when the thyroid 

gland is there, this sound would 

be changed into a dull sound = 

there is something lined behind 

the manubrium which could be 

the thyroid gland . 



 

*Remember the normal place 

Of thyroid gland : in the lower 

part of the neck, below the 

upper border of the thyroid 

cartilage at the level of the 

oblique line. 

*Also you should ask the 

patient to swallow , why? to see 

the thyroid gland as it will go up 

& down in the midline bcz it has 

the same fascia that connects it 

to nearby structures (larynx, 

pharynx) so they are attached 

to each other. 





The parathyroid glands lie posterior to the 

thyroid gland, we should take care of 

them in thyroid gland operations. 

We talked about these 2 nerves and 

their relations to nearby blood vessels : 

- External laryngeal near superior 

thyroid artery. 

- Recurrent laryngeal near inferior 

thyroid artery. 



Same as thyroid veins. Here is the inferior thyroid artery coming from 

subclavian A -> thyrocervical trunk -> inferior 

thyroid A -> may reach superior parathyroid. 

Don't forget that the recurrent laryngeal nerve 

passes near this artery, so during any 

operation/thyroidectomy we ligate this artery 

far away from the gland. 



NOW WE’LL TALK ABOUT THE EMBRYOLOGY OF THE 

PARATHYROID GLAND: 





 

Explanation in the 

next slide 



EXPLANATION OF THE LAST SLIDE 

WHY INFERIOR PARATHYROID? 

 superior parathyroid + her sister (the thyroid gland itself) 

which is not faraway from it -> so it easily finds it target. 

 But the inferior parathyroid + her sister (the thymus 

gland) which takes its journey from the neck down to 

superior mediastinum , therefor sometimes the sisters 

can't be separated and parathyroid gland could be 

found in many places in the superior mediastinum 

around the aortic arch. 

 The most important thing to know is that any structure 

that migrate from one place to another can be arrested 

due to many reasons in one of the steps of path of 

migration (testes, thyroid& inferior parathyroid glands) . 



 

At lower magnification we can see: 

fibrous capsule + clumps/cords of 

cells + capillaries between them. 

Basic structure of endocrine glands: no ducts, clumps/cords with capillaries 

between them , surrounded by fibrous/ connective tissue . 

A white stain (on H&E) = fat cells or alveolar 

cells, here it is fat cells (because here the 

nearby structures are different from 

respiratory system) this way you can identify 

parathyroid gland from other  glands. 



Their function is 

not well-known 

At higher magnification we 

can identify 2 types of cells: 

oxyphil & chief cells. 



we can see : 

-Abundance of 

principle/chief cells 

which are smaller in 

size but with a larger 

nucleus.   

- Scattered oxyphil 

cells which are 

larger than chief 

cells with a smaller 

nucleus. 

*Both types can be 

arranged in clusters 

(as in the next slide).  



 

DONE  


